
Time: 10 Minutes Paper English 8 (T-1) Total Marks: 10

4th Month, 3rd Week, 2nd Day

Syllabus: Unit # 8: Vocabulary and Grammar (1st half) Paragraph: The Life of

a Policeman

Q.No.1. Choose the correct option. (3)

1. Choose a compound preposition.

(a) aside from (b) next to (c) apart from (d) all of these

2. You are at top of the list of position holders. The underlined words are:

(a) conjunctions (b) prepositions

(c) compound prepositions (d) interjections

3. The boy is sleeping on the floor. The underlined part of the sentence is:

(a) prepositional phrase (b) adjective phrase

(c) prepositional clause (d) adverb phrase

4. A form of verb that ends in -ing and use as a noun is called:

(a) gerund (b) participle (c) infinitive (d) past participle

5. This is thrilling story. The underlined word is:

(a) gerund (b) present participle

(c) infinitive (d) past participle

6. Smoking is injurious to health. The underlined word is:

(a) present participle (b) gerund

(c) infinitive (d) past participle

Q.No.2. Use the following compound preposition in sentences of your own. (3)

Words Sentences

along with

instead of

according to

Q.No.3. Write a paragraph on "The Life of a Policeman". (4)
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